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Abstract

Objectives: This study will introduce some new identities for sums of finite
products of the Pell, Fibonacci, and Chebyshev polynomials in terms of
derivatives of Pell polynomials. Similar identities for Fibonacci and Lucas
numbers will be deduced. Methods: Results are obtained by using differential
calculus, combinatory computations, and elementary algebraic computations.
Findings: In terms of derivatives of Pell polynomials, identities on sums of
finite products of the Fibonacci numbers, Lucas numbers, Pell and Fibonacci
polynomials, and Chebyshev polynomials of third and fourth kinds are
obtained. Novelty: Existing research has identified identities on sums of
finite products of the Fibonacci numbers, Lucas numbers, Pell and Fibonacci
polynomials, and Chebyshev polynomials of the third and fourth kinds in terms
of derivatives of Fibonacci polynomials or Chebyshev polynomials; identities on
sums of finite products in terms of Pell polynomials, however, have not been
investigated, so identities primarily in terms of Pell polynomials are obtained.
Keywords: Fibonacci Numbers; Pell Numbers; Lucas Numbers; Pell
Polynomials; Chebyshev Polynomials

1 Introduction

This section will introduce the basic definitions and symbols that are going to be used
throughout the paper and the central theme of the manuscript through the citation
of previously deduced results by various authors on sums of products of some special
polynomials.

To start with, the Fibonacci numbers (%, ) and Lucas numbers (.%;,) are respectively
defined by the linear recursive relations

ﬂa:ya7]+ya72,a227ﬁ0:0 andjl 1

and

Lo=%oy 1+ Ly r,00>2, % =2and 4 =1
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Similarly, the Fibonacci polynomials are defined recursively as follows:

Falz) =2Fa-1(2) + Fa-2(2),00 > 2,F9(z) =0 and F(z) =1

The Pell numbers () and Pell polynomials (2, (z)) ) are defined recursively as
Py =2Pg 1+ Py 2,00>2,Py=0 and # =1
and
Pa(z) =2P4—1(2) + Poa—2(2),00 >2,P(z) =0and £ (z) =1

The Chebyshev polynomials of the first (F ( z)), second (%, ( z)), third (%4 ( z)),and fourth kind (#4 ( z))?® are defined
recursively for a > 1, as

Ta(2) =2z Ta-1(2) — Ta—2(2), H(z) = 1and  Ti(z) =z
Ua(2) =22 U—1(2) — Wa—2(2), %(z) =1 and % (z) =2z
Ya(2) =22 Va-1(2) = Va—2(2), Yo(z)=1land ¥i(z) =271
Wa(z) =2z Wa-1(2) — Wa-2(2), #o(z) = L and #i(z) = 2z+1

These linear recurrence sequences will in turn lead to the following general formulae *-°)

Tu(2) = % Kz—k 22— l)a+ (z— zz—l)a}

Ua(z) = 2\/% {(zﬁ- 22— 1)0Hrl — (z— \/sz)om}
Palz) = 2\/% Kz—k 22+ 1)a - (z— \/ﬁ)a}
With the help of the above-discussed recurrence relations and formulae, one can easily observe © that for any integer, o > 0,
Yo(2) = Ua(2) — Ua—1(2) (1)
Weo(z) = Uy (2) + Uq-1(2) (2)
Wa(z) =(=1)% Yu(—2) (3)
U iz) = i* Poy1(2) (4)

Many authors have studied the properties of Chebyshev polynomials. For example, Zhang investigated the sums of finite
products of the second kind of Chebyshev polynomials”) and derived many identities, particularly

1 r
Zdl +dy+-+dp =0 %dl (Z) : %dz (Z) T %dr+l (Z) = ﬁ%oH'r(Z) (5)

where U/, (z) denotes the r*" derivative of Uy (z) w.r.t z and the sum runs over all the r+1- dimensional non-negative integral
coordinates dy,ds,- - - ,dy4+1 such that dy +dp + - - - +d,41 = . Similar results were observed by T. Kim, D. S. Kim, D.V. Dolgy,
and J. Kwon ® for finite products of Chebyshev polynomials of the first kind and Lucas polynomials.
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In®, T. Kim, D. S. Kim, D.V. Dolgy, and D. Kim have observed the sums of finite products of Chebyshev polynomials of the
third (Vi (z)) and fourth kind (Wy, (z)) as follows:

1 & if r+1
it —a Y )01 = g L0 () 2000 ©
]:
1 & r+1 .
TR R AR ZNCES 5 QAR A AWE o)
j=
where all sums in eqns. (6)-(7) runs over all non-negative integers dy,ds,- -+ ,d,+1 such that dy +dy +--- + d,+1 = o with

r+ ! for j > r+1. Here the authors have developed the results on sums of finite products of Chebyshev polynomials of
the third and fourth kind in terms of Chebyshev polynomials of the second kind and hypergeometric functions. Similar results
were studied by D. Han and L. Xinging 1? for sums of finite products of Chebyshev polynomials of the first and second kind,
Lucas and Fibonacci polynomials in terms of Chebyshev polynomials of the first and second kind, and Lucas polynomials. A.
Patra and G.K. Panda ') also developed similar identities on sums of finite products of Pell polynomials in terms of orthogonal
polynomials, including Chebyshev polynomials.

According to the preceding literature, previous work has been done to develop identities on the sums of finite products of
Fibonacci and Lucas numbers, Pell, Lucas, and Fibonacci polynomials, and Chebyshev polynomials of third and fourth kinds
in terms of derivatives of Fibonacci polynomials, Lucas polynomials, or Chebyshev polynomials, but the identities on the sums
of finite products in terms of Pell polynomials have not been investigated. So, in this paper, some more identities on sums of
finite products of the Fibonacci and Lucas numbers and Pell, Fibonacci, and third and fourth kinds of Chebyshev polynomials,
primarily in terms of derivatives of the Pell polynomials, are obtained.

2 Methodology

Results are obtained by using differential calculus, combinatory computations, and elementary algebraic computations.

3 Results and Discussion

In this section, the main results of the paper on the sums of finite products of the Pell polynomials, Chebyshev polynomials of
third and fourth kind, Fibonacci and Lucas numbers, and the derivative of the Pell polynomials are obtained using elementary
computations. These results are established along the lines of the sums of finite products in Eqns (5)-(7) and are encapsulated
in the following theorems.

Lemma 1

For any non-negative integer ¢, the following identities hold:

D). Pos1 (=3 1) =i Poas1)-

ii). Pat1 (% i) =i yz(ourl) .

iii). Poi1 (=2) = 5 Farn).
iV). 7/(1 (3%’ ) = F2a+1.

2

The lemma can be easily established by taking z = —%, %, —2,ineq. (4), z= % in Eq.1 and Eq. 2 and using the fact
Uo (3) = Pogart) » %o (—3) = (=1)% Poai1), Yo (—2i) = ), %o (3) = Fra42 respectively.
Lemma 2

For any integer o¢ > 0, the following identity holds

, 1
ar1(2) = éf‘:—ZQ; Pa(z) + %@owl (z)
Proof
From (12),
(1=22) %y(2) = (0t + 1) Ua—1(2) — 0z Ya(2) (8)

https://www.indjst.org/ 943


https://www.indjst.org/

Kishore & Verma / Indian Journal of Science and Technology 2023;16(12):941-955

Replacing z with iz in Eq. 8 gives

(1+22) g (iz) = (a+ 1) U1 (iz) — i zuqiz) )
Differentiating Eq. 4 yields
Uyiz) =i 12,1 (2) (10)
Using Eq. 10 in Eq. 9 yields
(14+22)i% " Py () = (a+1) i% ! Po(2) —aizi® Py (2)
(14+2%) Z411(2) = (@ +1) Pu(2) + @z P11 (2)
ar1(2) = mya(z) + %90&1 (2)
This proves the lemma.
Lemma 3
For any integer & > 0, the following identity holds
240 = ) Pan - o P O
Proof
From (1),
(1-2%) % (2) = 32 U5 (2) — & @+2) %a(2) (11
Replacing z with iz in Eq. 11 gives
(1+22) %) (iz) = 3z iU iz) — ot +2) Yo iz) (12)
Differentiating Eq. 4 gives
Uy(iz) =i P, 1 (2) (13)
U (iz) = iP5, (2) (14)
Using Eqns. 13 and 14 in Eq. 12 and proceeding as above in lemma 2, yields
(1+2%) Zy(2) = a(a+2) Pas1(z) =32 Py (2)
P = T Pun @ g P
This proves the lemma.
Lemma 4
For any integer & > r > 0, the following identity holds
w10 =~ =02 23 O+ (=2 r-a(e+2) 243 6.
Proof
From lemma 2 and lemma 3,
(1+42%) 2)1(2) = (0 +1) Py (2) + Az Pos1(2) (15)
https://www.indjst.org/ 944
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(1+2%) Z4(2) = (0 +2) Por1(2) =32 P4 () (16)
Differentiating Eq. 16 (r — 2) times and using Eq. 15, yields
(1+2%) Poi1(2) = —(2r = 1)z 2524 () = ((r=2)r — (@ +2)) 2.3 (2)

1
(};H»I(Z) = (1 +22)

[(2r— 1)z 255 @)+ ((r—2)r— a(a+2) 2,3 (2)]

This proves the lemma.
Lemma 5
For any non-negative integer ¢ and r,

L,
f@dwl(z) : gdzﬂ(z) T '@dwﬂ(z) = F'@a+r+l(z)
di+dy+-tdpy =0t r:

where sum runs over all non-negative integers dy,da, - - - ,dy+1 such thatd +dr +---+dr+1 = o
Proof
Using Eq. 4 in Eq. 5 easily establishes the lemma.
Theorem 1
For any non-negative integerox > r > 0,

Yaitdottdo—a Pay11(2) Pay41(2) - Py 41 (2)

1 _ _
=~ (¥~ D Zatin @+ (= 2= (@t (o4 r+2) 250, ()]
where sum runs over all non-negative integers dy,da, - - - ,d,+1 such thatd) +dr +---+d,1 = o

Proof
By virtue of lemma 4 and lemma 5,

Yditdottd—a Pay+1(2) Pay+1(2) - P, +1(2)

Pay+1(@) Pay1(2) - P41 (2)
d+dy+-+dr =0

1 . —
= ) ((2r—1)z =9Z(X+lr+1 (@) + ((r=2)r—(a+r)(a+r+2)) yafrﬂ (2)]
Theorem 2
For any non-negative integersac > r > 0,

Yaivdyttdp=a Fay+1(2)  Far+1(2) - Fay 1 (2)

(_1)06 —1 < r=2 z
= ST T (er-1z 7)., (_E) —2(r=2)r—(a+7) (@+r+2)) P2, (_5)} :
where sum runs over all non-negative integers dy,ds, - - - ,d,+1 such thatd +do +---+d,1 = o

Proof

Replacing z with —% in theorem 1, gives

Yatdyttdp=a Par11(=3) Pay1 (=5) - P01 (—3)

- ! [(2r—1)(—§> zrt (—%)+((r—2)r—(a+r)(a+r+2))3”&fr+l (—%)} a”)

2071 <1+ (—;)2>

https://www.indjst.org/ 945
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Now, replacing z with £ in eq. (4) and using Fy (z) = i% ! Uq—1 (—%) yields

Lot (—§> = (=1)*Zas1(z) (18)

Using Eq. 18 in Eq. 17 yields
S Xditdotord—a Fa 1 (2) Fay i1 (2) - Fay 01 (2)

(_1)a+1

=i o) (20 () P () w2 (e ntar e 202250, (5)
r! -3
= 2(_1.)(4_235) (Cr=nz 20, (=5) —2(r—2r— @+ (a+r+20) 252, (=5)]
- i [0 Vs Pk (<) ~20 D= @ a0 20 ()

S Xy vyt oty —a Ty 11 (D) Fay 11 (2) - T 11 (2) Ly v dytotd —a Ty +1 (2)* Fay 1 (2) - Fa, 11 (2)

_ (_l)a r—1 < r—2 <
= T T ((zr Nz 2070 ( 2) 2(r=2)r—(a+r) (a+r+2)) 212, ( 2)}
This establishes the theorem.
Theorem 3
For any non-negative integerox > r > 0,
Fo(di+1) Fody+1) " F2d,, +1)
di+dy+-+d, 1=
i% . 1 3i o 3i
=3T3 3i(2r— 1)9a+r+1 ~3 +2((a+r)(a+r+2)— (r—Z);')e@(HrJrl ~3
1 . —1 3i 2 3i
:W 31(2r—1)<@a+r+1 2 +2((r—2)r—((X+r)(a+r+2))<@a+r+l E

where sum runs over all non-negative integers (d1,ds, - ,dr+1) such thatd; +do +- - +dr41 = o with ( r# ! )forj >r+l.
Proof _
Taking z = —% in theorem 1 gives
Y +dy+otdy=a Ly +1 (=3) Payir (=3) - Py, 1 ()

e (0 () s (3) e 2 (5

+((r=2)r—(a+r)(a+r+2) 2,2 (_&H

oa+r+1 2

a+r+1 2

Now using lemma 1(i) yields

a; a5 a
Fodi+1) " F2dy+1) " P 2dy o +1)
di+dy+Ady =

i . 1 3i 2 3i
=3T3 (31 (2r—1) 2y <—2) +2((a+r)(a+r+2)—=(r—=2)r) Py (—2)]
https://www.indjst.org/
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Again taking z = % in theorem 1 and using lemma 1(ii) and proceeding as above yields
Y +dy+tdpy =0 y2(d1+1) u?z(dzﬂ) B ﬁ'z(d,.HH)

1 , (3 s (3
= 5T 50 3i(2r — l)gza+1r+1 <2> —|—2((r—2)r—(a+r)(a+r+2))9a+2r+1 <2>]

Thus, the theorem is established.
Theorem 4
For any non-negative integer o¢ > r > 0,

Yy tdyttdy=a T3y +1)  F3dy+1) T3, +1)

= e (200 1) Zh (D)4 (@D (@ r42)— (r=2)r) P (-2)]

where sum runs over all non-negative integers (dy,d>, - - ,d,+1) such thatd +dp + - - - +d,1 = o with ( r—; I ) forj>r+l.

Proof
Taking z = —2 in theorem 1 gives
Yaivdrttdp—a Pay+1(=2) Payi1(=2) - P, +1(-2)

1
=

~ 55 CO=1) Pl (D (@t @+~ (r=2)0) 22, (-2)

2r = 1)(=2) P41 (=2) + ((r=2r = (a+r)(a+7+2)) P45 1 (-2)]

Now using lemma 1(iii) yields
Yy tdottdy=a F3(dy +1) " F3(dy 1) ﬁs(dmﬂ)

2 r, e
= e (20— 1) 2 (2)+ (@) (@ r+2) = (r=2)r) P52, (-2)]
Hence, the theorem is established.
Theorem 5
For any non-negative integer &« > r > 0,
Zd] +dy++Hdpp =0 7/d1 (lZ) : A//dz (ZZ) T A//drﬂ (lZ)
1 o
T (1+2) &

; (r+1
, (1) o (JJF) (@r-1z 2yl @ = (@—j+2)(@—j+2) 242, ()]

0

where sum runs over all non-negative integers (di,da, -+ ,dy11) such thatd; +da + - - - + dy+1 = o with ( rJ;. ! ) forj>r+l

andi=+/—1.
Proof
Replacing z with iz in Eq. 6, gives
. , . 1 & j r+1 r s
T a1 Y0 02 Fas 1)+ Yo, 02) = 5 Y 07 () g, (19)
i

Differentiating Eq. 4 w.r.t z yields

Ug(iz) =17 Pu11(2) (20)
Using Eq. 20 in Eq. 19 gives
. . . 1 & jia—j r+1 r
Zd| +d2+-~-+d,+]:a %i] (lZ> ! 7/112 (lZ) e dr+1 (ZZ) = 2yl Z (_1> l ] a—j+r+1 (Z) (21)
)

https://www.indjst.org/ 947
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Using lemma 4 in Eq. 21 yields
Zd|+d2+ Ady = a%h (lZ) A//dz ( Z) p+1 ( )

(1) J+1 - 1(’7 (2r—1)z Z,_ 1J+r+1 @)+ (r=2)r—(x—j+2)(x—j+r+2)) Z,- 2/+r+l(z)]

-1
T r!(1+12) Z/ 0 )
1 - . . r
:m %ol )it “J(i)<2r—1 P 1j+,+1()_(0‘_1+2)(a_l+2’") ‘@(X2j+r+1(z)
%1 (lZ) %2 (lZ) ’Verrl (lZ)
d1+d2+"'+dr+lia

1)ite r+1 B r—1
T (14 22) 1+Z Z ! ( j )[(Zr Dz P ]+r+l(z)

(O( ]+2)(O¢ ]+2r)‘@a j+r+1(Z)}

which establishes the theorem.
Theorem 6
For any non-negative integer o¢ > r > 0,

Z %1 (iZ) ’ %2 (lZ) e %H»l (iZ)

dy+dy+tdy =0

M;ia—j( ! > (@r— 122 @)~ (@ j2) @+ 20252, ()]

where all sum runs over all non-negative integers (d1,da,- -+ ,d,+1) such thatd; +da + - -+ +dr+1 = ot with < r—; 1 ) forj >

r+landi=+/—1.

Proof

Using Eq. 7 and proceeding as above in Theorem 5 establishes the theorem.
Theorem 7

For any non-negative integer o¢ > r > 0,

a7, a7, a7,
Yiivdrttdp=a F2dy+1° F2dy+1 F2d, +1

1 - J+1.a—j r+1 P 1 3. . : pr- 2 3.
= T35 ;)(—1) i T 3i(2r—1) 2, et 51 —2(0—j+2)(a—j+2r) P, e El ,
j=
where sum runs over all non-negative integers (dy,ds, - - ,dy41) such thatd; +da + -+ - + d,+1 = a with < r+1 >f0rj >r+l
andi=+/—1.
Proof
Replacing z by z = 21 in theorem 5, gives

Zd|+d2+-~-+dr+1:0¢ 7/41 (7) 7/112 (2) 7/dr+1 (%)

ey B (5] (20(3) (3 e smie s ()

= ! y DR L ril 3i (2r—1) 2! SER (0—j+2) (a—j+2r) 2572 3,
~ 2151 zz: ! ] b a—jtri1 \ Tt )T e ) “ITE) Fajrrn T3
Using lemma 1(iv) yields

S Xy tdytdy s —a P2y 11 P2y 11 Fad, 1

1 < JHla—j r+1 r—1 3, . . r 3.
= Z(—l) i — 3i(2r—1) Py i —5i —2(a—j+2) (a—j+2r) 2572 jerit | T3

J=0 J

https://www.indjst.org/ 948
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Hence, the theorem is established.
Theorem 8
For any non-negative integer o¢ > r > 0,

Yy tdrttdys—a 22y 41 Loy 41 Lody 1 +1

1 o o [T . r—1 3. . . r—2 3.
TN Z‘Z)l e 3i(2r—=1) Py —5t —2(a—j+2)(a—j+2r) Py —5i
=

where all sum runs over all non-negative integers (dy,da, -+ ,dy+1) such thatd) +dp + - -- +d,+1 = a with ( r—; ! ) forj >

r+landi=+—1.
Proof
In theorem 6, replacing z with z = — %i and proceeding as in theorem 7 yields the desired result.
Corollary 1
For any non-negative integer ¢, the following identities hold:

Y Pa1 (@) Pri1(2) Peri (2) =Aa (2) Pat3(2) = Ba(2) Paia(2),

a+b+c=o

Y a1 () P11 (D) Peri (1) - Pas1 (2) = Ca (2) Par3 (2) + Do (2) Pasal2),

a+b+c+d=a
where
(o +2) 3z(a+3)
Agy (Z) = m ((a+1)zz+(a+4)] , Bg (Z) = m s
_ (a+4) 2 2 2
Ca(z)7748(1+z2)3 ((0* +80+27) " + (o +- 8 +12) ],
3
Da(z)zm ((e® +3a+2) 2+ (o +3a—13)].
Proof

Taking r = 2 in theorem 1 gives

Yatbtre—a Patl (2) - Ppy1(2) - Pev1(2)

_ _m (37 w3 (0) — (@+2) (@ +4) P (2)]
= ﬁ ((a +2) (0 +4) Pois (2) =322 a3 (Z)}
_ 1 3z (a+3) (+2)
= g O Pans () gy (T e O+ (1 2 PO

5 3.2 3 3
— &) (@4 o] 2o~ 00

https://www.indjst.org/ 949
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(o +2) 3z(o+3)
= m (((X+ 1)Zz+(06+4)] gza+3 (Z) — m

Y 201 Pri1(2) Peti(2) = Aal2) Par3(2) — Balz) Paia(2)

a+b+c=a
_ 3z(a+3)
8(1+22)

a2 (2)

where Ay (z) = 82(11—1_122))2 (a+ 1)+ (a+4)], Bal(z)

Taking r = 3 in Theorem 1(i) gives
Yoivrerd—a Pat1(2) - Ppi1(2) - Pey1(2) - Pt (2)

= "R (5Z3Z at+a(2)+(3—(a+3)(a+5)) P 14(2)

= ((a+3)(+5) 3] P 414 (2) — 527" 414 (2)

48(1+22)
- s (@) -+ o] Feuin - I 5
~ i (@ @9 -8 0s0 - s (PG s i P ast)
- m (((a+3) (@+5)-3)+ (llf;)} (Ef‘ :2 Paia(2)+ ((OII;); Pars(0)| - % iz ?131(;; D pea )
- 48(:;:2‘)3 (((a+3) (a+5)=3) (1+2%) +152%] Poss (z>+4§'(‘1++32f)3 (((a+3) (a+5)=3) (1+2°) +152 =5 (a+5) (1+2°)
— m (0 +8a+27) 2 + (&* +8a+12)] Pgi3 (z)+4;‘2‘1132;)3 ((?+3a+2) 2+ (a* +3a—13)] Pgy4(2)

Y 21 Pri1(2).-Pe1 (2)-Pas1 (2) = Cu(2) Pas3 () +Da(2) Paral(z)

a+b+ct+d=a
(a+4) 2 2 2
where Cyq (7) = ————— ((a“ + 8 +27) 7"+ (a“ + 8o+ 12) |,
(x+3)z

Dq (2) = B1) (o +3a+2) 27+ (o +3a—13)]
z

Hence, the Corollary is established.
Corollary 2. For any non-negative integer o« > 0, the following identities hold:
Yitbte=a Far1 (Z) cFp1 (Z) Ferl (Z)

(x+2)

— W (a+ 1) +4(a+4)] Fais(2)

- 3(25(1—:)32) Fai2(2) -
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Yatbre=a Fat1(2) - Fp11(2) Fet1(2) Fay1 (2)
(+3) z

o+4
:(;)3[((x2+8a+27)z2+4((x2+8a+12)] (@ +8a+27) 22 +4(a® +8a+12) Fuys () + (a2 +3a+2)2
3(22+4) 6(z>+4)
Proof
Taking r = 2 in theorem 2, gives
Yotbie=aFat1(2) Fpr1(2) - Fer1(2)
— (=D / 2 z
T 4(2+4) [ 3z a+3< 2) +2(a+2)(a+4)<@a+3( 2)} } (22)
Using lemma 2 yields
| 7\ _4a+3) z\_ 2(a+2)z _z
0‘“( 2>* (2 +4) ‘%“( 2) (2 +4) ‘%“( 2) (23)

By using Eq. 23 in 22 yields
Yotbre=aFar1(2) Fpi1(2) - Fer1(2)

_ 4((;2”:4) <3Z (4(Z(2a++43)) Par2(—5) - 2((514232 P (—;)) 4 2(042) (A +4) Pais (—g)]

A (B () ren (g wr9) ()]

R (a9 e () 2an()

Now using Eq. 18 gives

- z@zlwz (62 (@+3) Fara(2) — (a+2) (e + 1) +4 (e +4)] Fais ()}
(o +2) P 3z(a+3)
= W ((a+ 1)Z2+4(0‘+4)] Fai3(2) —W a+2(2)

Again taking r = 3 in theorem 2, and using lemma 2 and lemma 3 and using eq. (18) and proceeding as above yields

Y, a1 (@) Foi1 (2) - Fer1 (2) - Far (2)

a+b+c=a

4
_ &)3 ((0® +8a+27) % +4 (a? +8a+12)] Foy3 (2) +

3(2+4)

(x+3) z

a?+3a+2) 2 +4(a?+3a—13)] Z,
6(zz+4)3(( )z ( )] Fata )

This establishes the corollary.
Corollary 3
For any non-negative integer & > 0, the following identities hold:

1
Z Fa(ar1)  Fab+1) T 2(etr1) = %(18 (@+3) Prgra+(00+2) (Sa—T) Fray6] -
a+b+c=o

1
F(ar1) " P2r1)-F2(c41)-F2(d 1) = 150 (3(a+3) (a® +3a+14) Frgis—2(a+4) (0 +8a+39) Frg6] -
a+b+ct+d=a
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Proof
Taking r = 2 in theorem 3 gives

Yatbre=a F2atr1) F2bt1)-F2(ct1)

i [ 3. 3.
=% [91 Poss (_Zl) +2(a+2)(a+4)Pui3 (_21)] (24)
Using lemma 1,
3. 4(a+3) 3\ 6i 3.
(/x+3 <—21) =— 5 Pas2 (—21> + g(a+2)e@(x+3 (_21> (25)

From Eq. 25 and Eq. 24,
Yotbte=a yZ(aJrl) ’ yz(bﬂ) -gz(cﬂ)

5[ (-2 g (31) 4 L@t 070 (-31) ) + 20+ 2@+ 0 Z0ia (51

:_% <—l8i(a+3) Poin (—zi>+(a+2)(5a—7)3%+3 (_;lﬂ

Using lemma 1(i) leads to
Yatbte=a F2ar1) Fabi1)-Fa(ct1)

0

i
50( 8i(a+3)

Fro+4
jot1

+(a+2)(5a—7) ‘%O‘ﬂ

jo+2

1
- % (18 (OC—|—3) ﬁ2a+4+(a+2) (506—7) g\2(}6+6]

S Xatbte=a F2ar1) Fabi1)-Faer1)

= % (18 ((X +3) y2a+4 + ((X +2) (SOC — 7) <g/72a+6]
Again taking r = 3 in theorem 3, and using lemma 2 and lemma 3, with z = —% i and proceeding as above yields
1
Z yz(a+1) . 92(,,+1).9‘2<C+1).ﬁ72<d+1) = ﬁ (3 (Ot + 3) (062 +3a+ 14) yon_g -2 (OC —|—4) (OC2 +8a+ 39) y2a+6j|

a+b+c+d=ao

Hence, the corollary is established.
Corollary 4
For any non-negative integer & > 0, the following identities hold:

1 .
Z F3(ar1) " F3br1)-F3(cr1) = 30 (¢ +2) (Sa+8) F3q+9 —6i (0 +3) F3a-16]-
a+b+c=a

1 .
F3at1) F3p41)-F3(er1)-Faar) = ~ 155 ((e+4) (0 +8a+24) T340 —2i(a+3) (& +300— 1) F3gt12] -
a+b+ct+d=a

Proof
Taking r = 2 in theorem 4 implies
Yatbre=a F3(ar1) F3b41)-F3(ct1)

= 51% [620.3(=2)+ (0 +2)(0+4) Poi3(—2)] (26)
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Using lemma 2

, (a+3)

32 = CEY 2 (2) S (@42 Pars(-2) @7)

From Eq. 27 and Eq. 26 with lemma 1(iii) leads to

Y By Fapa) T
a+b+c=a

g (6 ((a;r3) Para(-2)~ 2 (@+2) Pass (-z)) (@42) (0 +4) Pasn (_2)}
=55 <6 <(a5+3) Pat2(-2) —g (a+2) f@a+3(—2)> +(a+2) (o +4) 3%%(—2)}

1
=~z ((a+2) (5a+8) F3q49+6i (A+3) Fagi6)

1 .
Y, Ty T Faern) = 350 ((a@+2) (5a+8) F3q19—6i (€ +3) F3g46]
at+b+c=a
Again taking r = 3 in theorem 4, and using lemma 2 and lemma 3, with z = —2 and proceeding as above yields
1 .
Z 93(a+1) . 93(b+1).5f3<6+1).§3<d+1) = ~T50 ((Ol +4) (062 +8a + 24) Faor9—2i(a+3) (062 +30— 1) 93a+12]
a+btctd=a

This establishes the corollary.
Corollary 5

For any non-negative integer & > r > 0, the following identities hold:

Y Yaliz) W (iz) Ve (iz)

a+b+c=a
1 3
— s b 0 () (5 (- 43) Pajia @) (@ 42 (@ 4 D+ (@4 4)] Pasia ).
=0
1 .
Y, ) Py F(es) = —35o ((@+2) (500+8) Fzar0—6i (00+3) Fsare]
a+b+c=a

1

= 48(1+zz)3 ZO‘ J+1 - J( ) a— ]+3) [(5(05—]4-5)—(a—]+2)(a—]+6)) (1+Z2) }
—152]% ja@) = (a—j+4) [1522 + (a— j+2)(a— j+6) (1+2?)] Po—ji3(2)

Proof
Taking r = 2 in theorem 5 gives

ﬁ Z(—l)]+1iaj( j )32{:@{1J+3(Z)

=0
! —(o—j+2)(a—j+4)Pa_j3(2)}

Yarbie—a Yaliz) - ¥p(iz) Veliz) = "
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From lemma 2,

(¢—j+3) (a—j+2)z

Py j3(2) = W‘@a*]#Z(Z)—'_ (1+2) Pa-j+3(2) (29)
Using Eq. 29 in Eq. 28, leads to
MR ACRACAC
a+b+c=a
1 ¢ a3 —j+3 —j+2
= s 5O () [ E e s S e
=

—(a—j+2)(a—j+4)Paji3(2)}

L & a3 (32 (00— j+3 —j+2 .
N f(j) (m Payia(@+ S (32 (@4 4) (142)] Pacses (Z>}

s n () (e ) e (02 s )] )

8(1+
S Xarbre=a Ya(iz) - Vp (iz) - Ve (iz)
1 o

:mg( 1)+ e 1<j) (3z (@—j+3) Po—jia(z) —(@—j+2) ((a—j+1)zz+(a—j+4)} Pa,,~+3(z)}

Now, taking r = 3 in theorem 5 results
Yatbretrd—a Va (iz) - ¥y (iz) - Ve (iz) - Va (iz)

1

:Wi}(_l)jHia'i( ){57 v jra(2) — (@ —j+2) (00— j+6) P, 5(2)} (30)

From lemma 3,

(a—j+3)(a—j+5) 3z
gzg J+4( 7) = (1+zz) 9a7j+4(1)—m<@¢/x7j+4

(2) (31)

Using Eq. 31 in Eq. 30 yields
Yotbtrerd=a Ya(iz) - Py (iz) - Ve (iz) - Vq (iz)

a il 4 (¢—j+3)(o—j+5) 3z )
48 1—|—z Z ]Hl ]< J >{5Z[ (1+22) ‘@a*j+4(z)7m=@a—j+4(z)
—(a—j+2)(@—j+6) P ;5()}

_ 1 a i 4 5z(¢—j+3)(o—j+5) ‘

= m;}(_l)/-Hl J ( i ) { (1—1—12) 90{—1+4(Z)

2
_ {(lliz?) +(e—j+2)(a— ]+6)] P J+4(z)}

C48(14 2 2,2’ Jﬂiaj( j ){Sz(a_j+3>(°‘_f+5>9’a—j+4(Z)

—[152 + (a— j+2)(a—j+6) (1+27)] Z4_;14(2)}
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Again, from lemma 2,

ja(2) = Wya—jw(z) + W«@a—j+4(z> (32)

Using Eq. 32, leads to
Yoibrerd=a Ya(iz) - Yy (iz) - Ve (iz) - Va (iz

:48(11—|-Z2)3'i()(_1)j+1ia J( ) a—j+3)z [(5(0‘—j+5)—(a—j+2)(a—j+6))(1+Z2)
j=

—152] Pajya(2) = (@ = j+4) [152 + (@ j+2)(a— j+6) (1+2°)]} Pa-j43(2)
Hence, the corollary is established.
Corollary 6
For any non-negative integer & > r > 0, the following identities hold:

Za+b+c:a Waliz) - Wy (iz) - We (i)
= Z o Bz (= j+3) Pujr2(x)—(0—j+2)((@—j+1)Z+(a—j+4)] Po j13(z)}.
l+z ( )

Latvrerd=a Waliz) - Wy (iz) - We(iz) - W (iz)

~r Ei® (3) B2 (@ +3) Pasjir (@)~ (@ = j+2) (@ =+ VP + (@ j+4)] Paji3 (@)}
Proof

Taking r = 2,3 in theorem 6, and proceeding as in corollary 5, establishes this corollary.

4 Conclusion

In this paper, the sums of the finite products of the Fibonacci and Lucas numbers, Pell and Fibonacci polynomials, and
Chebyshev polynomials of the third and fourth kind were considered as a linear combination of the derivatives of the Pell
polynomials. Here, various lemmas using Pell polynomials are developed, and certain relations involving the Fibonacci and
Lucas numbers, Pell and Fibonacci polynomials, and Chebyshev polynomials of the third and fourth kind are deduced and
utilised to achieve the objectives. These results will certainly serve as a possibility for the prospective researchers to express
such sums of finite products in terms of other orthogonal polynomials. Moreover, there is a possibility of studying sums of
finite products of other orthogonal polynomials as well. The control theory is an intriguing area in which these findings are
useful.
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